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GRAPHING CALCULATORS ARE NOT PERMITTED ON THIS TEST.
*Full marks will NOT be given for the final answer only.
When using a calculator, you should provide a decimal answer that is correct to at least

two decimal places (unless otherwise indicated). Such rounding should occur only
in the final step of the solution.

1. Determine the equation of the inverse of the function y = 2*. (1 mark)

Y= Lo X

2. Express logy(1/8) = -3 in exponential form. (1 mark)

L <=2
3

3. Evaluate. (1 mark each)

a) Log100

2

b) logzi

-1 /4
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4. Given the function f(x) = 2log, x — 1.

a) Sketch the graph of f(x). (2 marks)
b) Determine the domain and range of the function. (1 mark) % >0 y i
c) Determine the equation of the asymptote. (1 mark) y

v
y

b
—
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Determine the equation of the asymptote of the function f(x) = alog, x — d if a,

b, d are positive real numbers. (1 mark)

- O
. Simplify logzv/27. (1 mark)
2
%
Lot \ 2 - ,Z
2

. Write as a single logarithm: log 8 + log 3 —log 6. (1 mark)

Lot 249 = Lol Yy
b

8. Write %logc — 2logd + 3logf as a single logarithm. (1 mark)

Lol _Cj’i}
/b

9. Iflog8=aandlog7=b, write log;9 as an expression in terms of a and b. (2 marks)

Lot3- Loivg
A - (oL
A - )b

/6
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10. Solve each equation algebraically. (1 mark each)

a) logx=0.8

0.3
X=1lo = 6.3

b) logax =-3

(

X s - o. O’L)

oo
11. Solve each equation algebraically. (2 marks each)
a) 4 =31

L J
Loy - Loty
Xl/abbl T YL FLol)
= 1.3

X boil ~ Xtoll = Lou)

b) 2(18)¢=3*1

Lota # Xt - X o) +L1)

S(\,oul’i - Xtolt] = (=23 - (Lo

X = Loty - e = 0.2]
Lob1g - Lot

/6
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12. Solve algebraically (2 marks each)

a) loga(x-4) + logax = loga5

COLV (\(-q) (y> —(;L/o(y '

(D - ¢
N e
S R
/\(«()[xw) =9

b) 2logs(x +4)—logs(-x) =2 “

2 >( —f,7)(’f/éfo

— (o xrn -

2 X=Z (b =
(). 2 =
—— 1

—\e e Tur. @

/4
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